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Linear Equations in Two Variables
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Answer the questions

{1) I the graph of the linear agquation 2x + Sy = 41, there s a point such that its ordinate is 3 less
than its abscissa_ Find coordinates of that point.

{2) Aline passe through points (-4, -3) and (1, 2). Find the x-intercept of the line.

Choose correct answer(s) from given choice

{3) Egualion 2x + 5y = 7 has a unigque solution if x and v ara
a. Real NMumbars b. Pasitiva Real Numbears

. Matural Mumbers d. Raticnal Mumbars

{4) N botih sidas aof a aquation are dividad by a non-zero number, than solution of the eguation

a. Wil also be divided by same numbear b. May or may nol change depending an the
eguatian
c. Changas d. Remains the samsa

{5) The aequation of x-axis s

a.x=0 b.x=y
c.x+y=0 d.yv =0
{6) A talecom operator charges Rs. 0.8 for the first minute and Rs_ 0.8 par minutae for subsaquent

rmanutes of a calll f duration of call is represanted as d, and amount charged s representad as
e, Tind the linear eguation for this relationship.

a.c=09d+ 01 b.c=048d+ 01
c.oc=08d+ 09 d.c=0%8d+= 08
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